PART - A (25 marks)

1. (a) Ineach of the cases given below one out of four answers is correct. Indicate the correct answer (=1 mark) and
give workings/reasons briefly in support of your answer (=1 mark).

(1

(i)

(iii)

MS MADAVI, an author receives royalties from the publishers for her books at the rate of 25% on the sale
price of the books. The amount of royalty received during the previous year 2010-11 is T 150000. She incurs
an expenditure of 10000 for earning the royalty. What is the taxable royalty Income of Ms Madavi for the
assessment year 2011-12 (assuming the entire amount of the royalty is remitted into India)?

(A) 150000

(B) 140000

(C) T90000

(D) 70000

The selling price of a product of COMFORT LTD inclusive of excise duty @ 16%, education cess @ 2%
and SAHEC @ 1% and CST @ 2% is T 594.05. What would be the excise duty payable per unit of the
product?

(A)T 84.05
(B) T 82.40
(C)T80.10
(D) None of the above

VARUN & CO. a dealer in Mumbai dealing in consumer goods, had purchased goods for I180000
(exclusive VAT) and after adding for expenses of ¥20000 and of Profit T50000 had sold out the same. If
the rate of VAT on purchases and sales is 12.5%, what would be the amount of tax payable (Net) under
VAT?

(A)T 8750
(B)T 7500
(C)T 2500
(D) Insufficient Information.

Please Turn Over



CAT-7A4(ASC) ' (2)

(iv)

(v)

MS PRIYA rendered taxable services to a client. A Bill of ¥ 80000 was raised on 28.2.2011, ¥ 50000
was received from a client on 10.3.2011 and the Balance on 29.3.201 1. If the service tax was not charged
separately in the Bill, what would be the amount of service tax payable for the quarter ended March 31,
20117 (rounded upto nearest Rupee)

(A) T 8900

(B)T 7470

()T 5150

(D) None of the above.

MS MEGHANA, born on September 25, 1960, is working in a private company. Her salary for the
previous year 2010-11 amounted to ¥ 350000. During the year 2010-11 she invested ¥ 80000 in public
Provident Fund. If the tax deducted at source by her employer amounted to I 5000, the amount of tax
payable/refund for the Assessment year 2011-12 would be

(A) T 6330 (Tax payable)

(B) ¥ 3240 (Tax payable)

(C) T 1910 (Refund)

(D) None of the above 2x5=10

(b) Fill in the blanks in the following sentences with the most appropriate words:

(i)

(i)

(iit)
(1v)

(v)

(vi)

(vii)

(viii)

(ix)

As per Clause 49 (vi)(ii) of the listing Agreement the Companies shall submit a quarterly compliance
report to the stock exchange within ———— (15/30) days from the close of the quarter as per Format
prescribed in Annexure — [B.

Income from letting of furniture. machinery, plant and building which is not separable is taxable under the
head of ———— (Profit from Business/Income from other sources).

Tax Identification Number (TIN) issued under VAT Act is a—— (eleven/thirteen) digit code.

Basic customs duty is leviable under Section 12 of Customs Act & Basic Customs Duty is specified in
(Customs Act/Customs Tariff Act).

Central Board of Excise and Customs called as ‘Board’ consisting of Chairman and ———  (three/
five) members has power to administer the Excise Act.

A service provider is required to issue an Invoice as per Rule 4A of Service Tax Rules in respect of
services provided within ———— (14 days/30 days) from the date of completion of taxable service or
receipt of payment whichever is earlier.

Labelling or re-labelling of containers or re-packing from bulk packs to retail packs of natural or artificial
mineral water shall amount to ———— (manufacture/not manufacture).

ESI contribution is paid every month within ——— (seven/twenty-one) days from the end of the
month & if not paid interest @ 12% p.a. is payable.

Territorial waters of India extend upto ————— (12/10) nautical miles inside sea from baseline on Coast
of India and include any bay, gulf, harbour creek or tidal river. 1x9=9

(c) State with reasons whether the following statements are TRUE or FALSE (Answer without any reasoning will
not deserve any credit).

(i)

(ii)
(iii)

Show cause notice demanding Customs duty issued in case of clearance made by 100% Export oriented
undertaking (EOQU) is defective in law.

No Excise Duty shall be charged on samples used/preserved in factory.

If any excisable goods are exempted from duty of excise absolutely, the manufacturers of such goods will
be bound to avail the exemption. 2x3=6
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PART - B (75 marks)

(a) Explain SEBI requirement on Corporate Governance with reference to
(1) Composition of Board.
(i) Disclosure by senior management to Board of their interest in transaction. 2+3=5

(b) POLSON LTD, an importer, has imported a Machine from USA at FOB cost of $ 10000. Other details are as
follows:

(1) Freight from port in USA to Indian port was $ 700.

(ii) Insurance was paid to insurer in India ¥ 6000.
(iii) Design and development charges of $ 2000 were paid to a Consultancy Firm in USA.
(iv) The importer also spent an amount of T50000 in India for development work connected with the machinery.
(v) 10000 were spent in transporting the machinery from Indian port to the factory of Importer (POLSON LTD.)
(vi) Rate of exchange as announced by RBI was : ¥ 44.70 = One US 3.

(vii) Rate of exchange as announced by CBE & C (Board) by notification under Section 14(3)(a)(i) : T 44.60 =
One US §.

(viii) Rate which Bank recovered the amount from importer : ¥44.30 =One US $.

(ix) Foreign exporters have an agent in India. Commission is payable to the agent in Indian Rupees @ 5% of
FOB Price.

Basic Custom duty payable is 10%. :
If similar goods produced in India, Excise Duty payable would have been 16%. Special CVD is payable at 4%.
Required :

(i) Find the Customs duty payable.

(i1) How much CENVAT can be availed by Importer if he is a manufacturer. 342+242+1=10

(a) What are the circumstances under which input tax credit will not be available as per White Paper issued for
VAT Law in India? 4

(b) “Every manufacture is production; every production is not manufacture”, — Explain this statement
(Under Central Excise Act). 4

(c) SITAL & Co. adealer in M.P. effected under mentioned inter-state Sales during the quarter ended 3 1st March, 201 1.

(1) Invoice No. 031 dt. 1.1.2011 ¥ 102000 inclusive of C.S.T.
(2) Invoice No. 032 dt. 15.1.2011 ¥ 100000 exclusive of Tax.

(3) Invoice No. 033 dt. 1.2.2011 ¥ 204000 inclusive of C.S.T.
(4) Invoice No. 034 dt. 16.2.2011 ¥ 204000 inclusive of C.S.T.
(5) Invoice No. 035 dt. 10.3.2011 ¥ 100000 exclusive of Tax..

Following further information is given :

* Allregistered dealers gave Form C except the dealer of Invoice No. 035.
* 350% of goods pertaining to Invoice No. 032 were returned on 30.4.2011.

* A buyer of Invoice No. 033 rejected the goods worth ¥102000 and same were received back on 2.6.201 '
® (ST is 2% and State Sales Tax is 12.5%
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Required :
(i) Compute the Taxable turnover and tax payable.

(i) What will be the taxable turnover and tax payable if the goods of Invoice No. 034 are exported to
Bangladesh? 5+2=7

4. (a) When an employee who has not completed continuous service of 5 years, is entitled to receive payment of
gratuity under the Payment of Gratuity Act, 19727 4

(b) State whether Royalty received from the publisher by an Author of a Text Book for printing and publishing his
book is taxable under the provision of the Finance Act 1994 relating to Service Tax. 4

(¢) ZENITHLTD supplies raw material to a job worker ASHA LTD. After completing the JOB-work, the finished
product of 6000 packets are returned to Zenith Ltd, puting the retail price as T 25 on each packet. The product
in the packet is covered under MRP provisions and 40% abatement is available on it.

Following additional particulars are given :

Cost of raw material supplied < 30000
Job worker’s charges including profit < 10000
Transportation charges for sending the
raw material to the job worker < 3000
Transportation charges for returning
the finished packets to Zenith Ltd. < 3000
Required :
(i) Determine the assessable value under Central Excise Law.
(ii) Who is liable to pay excise duty in the above situation? 6+1=7

5. (a) MR. ANUP KUMAR (Age 52 years) a production Manager of ASLEEN LTD. gives the following particulars
of his income relevant for the assessment year 2011-12:

%
Basic Salary 60000 per month
Bonus 20000 per annum
Commission 70000 per annum
Entertainment Allowance 30000 per annum
A rent free unfurnished house
has been provided in Madras : Lease rent of the house T 250000 per annum

The Company has provided free use of an Opel Corsa 1398CC Car for official as well as personal purposes;
expenses of the Company : ¥ 50000 (out of which 30% is attributable towards personal purposes).

Car can also be used by the family member of Mr. Anup Kumar.

A sum of ¥ 6000 is recovered from Mr. Anup Kumar for using the car for private purposes.

The Company pays a sum of ¥ 400 on account of professional tax on behalf of Mr. Anup Kumar.
The Company’s contribution towards recognised provident fund ¥ 90000 per annum.
Contribution of Mr. Anup Kumar towards provident fund : ¥ 39000.

Payment of Insurance premium by Anup Kumar on his wife’s Insurance policy : ¥ 5000 per annum.
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Payment of Insurance premium by Mrs. Kumar on Mr. Kumar's Insurance Policy : ¥ 4000 per annum.
Mr. Kumar invested in shares of a company engaged in operating an approved Infrastructure facility: ¥ 60000.
Interest received on company deposit : T 18900.

Required:

(b)

(a)

(b)

(a)

(b)

(c)

Determine the taxable Income and tax liability of Mr. Anup Kumar for the assessment year 2011-12.
5+2+2=9

Explain whether the following items can be included in/excluded from transaction value under section 4 of the
Central Excise Act 1944:

(i) Collection expenses incurred in respect of empty bottles from filling arrated waters from the premises of
buyers to the manufactures.

(ii) Delivery and collection charges of gas cylinders and collection of empty cylinders.

(ili) Value of System Software which is designed to control the operation of the Computer System.
What will happen in case of application software? 2x3=6

Can there be any deduction made from the amount of bonus payable? Is it lawful for an employer to make
deductions from bonus payable to an employee? 5

List out the important returns required to be filed with ROC. 3

VIVITHA CHEMICALS LTD manufactures two products namely Dud-2 and Teno-5. Dud-2 is a specified
product under section 4A of the Central Excise Act 1944. The sale price of Dud-2 and Teno-5 are ¥ 30 and
T20.40 per unit respectively. The sale prices of both the products include 10% basic excise duty plus 2%
education cess and 1% SAH education cess. Central Sales Tax @ 2% is also included in both the Selling Prices.

For product Dud-2, 30% abatement is allowable under Section-4A.
100000 units each of the two products were removed from the factory to sales depots.

You are required to calculate the total Excise duty liability of VIVITH CHEMICALS LTD on both the
products. 3434+1=7

Discuss the following:

(i) When is Service Tax required to be paid?

(i) Who is responsible to pay service tax when the recipient of sponsorship services is located outside India?
(iii} Who is liable to pay e-payment of service tax? 2x3=6

Can Employees Deposit Linked Insurance (EDLI) Scheme is applicable to the employees who are not covered
under P.F. Act?—Explain. 3

KOLKATA CO-OPERATIVE SOCIETY LTD has the following sources of Income during the financial year
2010-11:

Income from processing with the aid of power T 12000

Income from collective disposal of labour of its members T 20000

Interest from another Co-operative Society T 30000

Chargeable Income from house property < 60000

Income from other business T 65000

Required:
Determine the taxable Income and tax liability of Kolkata Co-operative Society Ltd. for the assessment
year 2011-12. 4+2=6
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8. (a) Isit possible for the net annual value of a house property to be negative? What will be tax treatment if income
under the head “Income from house property” is negative? 2+2=4

(b) Write short note on services available on MCA-21. 4

(c) ANKIT & CO an unregistered firm providing Management Consultancy Services furnishes the following
details in respect of taxable services provided during the financial year 2010-11:

Date Particulars Amount ()
30.05.2010 | Advance received from a customer 150,000
03.08.2010 | Part payment received against a bill of ¥ 800000 raised on a customer 450,000
15.12.2010 | Money received against taxable services provided during November 2010 300,000
10.01.2011 | Money received against taxable services provided during December 2010 100,000
31.03.2011 | Money received against a bill for taxable services rendered during March 2011| 300,000

Ankit & Co. complies with the provisions of registration and collection of Service Tax as per Service Tax
Laws. The firm gets registered during the year 2010-11.

Required:

Compute the value of Taxable Services and Service Tax payable of Ankit & Co. for the year ended
March 31, 2011. ' §542=7
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CERTIFICATE IN ACCOUNTING TECHNICIANS
COMPETENCY LEVEL—PART II EXAMINATION

June 2011 CAT-7A(ASC)
(Hindi)
Applied Statutory Compliance
Time Allowed: 3 Hours Full Marks: 100

The figures in the margin on the right side indicate Jull marks.
In case of any discrepancy, eaminees are advised to follow the English version.

WFT-A T 7V G-\ F IW G S [ sfvard & sk 25 siw @ & el wr-B @ )
5 w7l & I Gord S fo5 Ao 15 s #7 81 gt w1 e 3w #7 w @)
FIA A7 G 13 (i) T&® 597 3 G4} 577 &7 3% U & @ w2 aikr
(ii ) HEF 73 J97 F I 79 07 T JRET Fi

YIT-A (25 3ih)

I () Frefafad & 4 wdes gm 3 =r fawed § 9w ey wd ¥ 1 wd fasey sq=d (=1 Feh), 319 I & wHeA
H HROATOAT G8Y F (=1 3iF) ot S 2x5=10

(i) mmﬁr%@waﬁm%aﬁmmﬁwﬁmwmzs%mﬁaﬁ%am
T 2010-11 & T 1,50,000 1 THed W g | I TeA N FAE H I 10,000 T 557 FE T
F-frier = 2011-12 # wret  Waedt ¥ ¢ A4 o 301 A2 T wibE fF Taed 31 @ af
R # 99 < 7

(31) T 1,50,000
(&) T 1,40,000
() 390,000
(%) T70,000

(ii) FARE fel. & T e 1 forsha e S o 16%, e S9aR 2%, SAH s 39 1%, 707 2%
F14 fasnt 9= wfed 594.05 T 1 wfa 597 27 SR = = A

(37) Z 84.05
(@) T 82.40
®) T 80.10
(@) I T @ FE T8
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(iii) =7 T FE g o U a6l 4 SFaen il € |39 92 Ses 95 1,80,000 T 9 wa e o
% fer@ 20,000 T 3 w1 & o/ 50,000 T Sirest wet 9= fean | afg e i faws w2 i 2 12.5%
B S (YE) F2 & Fia @ '

(31 T 8,750
(=N T 7.500
() ¥ 2,500
() STAH I

(iv) T 5= 1 3797 U Uiess sl L A Wl WeF @i 28.2.2011 = 39 W F 80,000 2T @ e fuifia
a1 10.3.2011 = A1@F & 50,000 T WH g4 31 99 29.3.2011 &1 gt afe faer § da a gy 4 7
foran e 21 31 31 =1, 201 1 1 o o 1 < Sen o faran 8rm? (o ST v fepeay w9
T U] ifT)

(31) 8,900
@) T 7,470
(®) Z5,150
(%) 39 § 4§ FE &

(v) Torg o S i 25 faaar, 1960 F st oft uss fAfs et o om &t 8 079 36 2010411 5 39 34
Fo 3,50,000 911 7T 99 A I 80,000 T gfeetan dlo Who # 51 fd A1 afe sueh Frligm 3 sgmy wom
5,000 T F Al I A Al I g <A et R afdn = el ad 2011412 % o Bt
(31) T6,330 (33 W)

() ¥ 3,240 (3 W)
(F) T 1,910 (T8 )
(@) I | H FE TE 2%5=10

(b) Frafeafea e 4 wod sifys 3faa o e e wm & gid =ifsa: [%x9=9

(i) gfem 3@ 49 (vi) (i) F TER wutE =1 faus! sraer R 2w vaaa= & foas & qam &
...................... (15/30) TeAt & ey gretm=e [B & 1R Frehfta wea § S et #1

(ii) TR, W, i S o R TR 3aM | ST, S o g e B W], S (AR @
/T WA § o) S § A 9 ¥

(iii) W 9FER T (TIN) 51 fo 9 ware & el Froifna fan s 8 0 e, (THR/ TR~ 3
I THIE ©) |

(iv) g Feen ggfe S fo wven srfufram &t aru-12 & 2nefi et st € oft get @m0,
(F2H TFERn 2w wwe) 1 fafde §1

(v) 3 IREA TE FEH 1S ' AIE Tl Al & e A S (d=/aia) e 2R
€ iR 39 3eareA sifufem & wearss #t wfea wea ®

(vi) Teret e werar = JamE Fm 4A & starla & arg 891 weH &= @1 yad e (S dft we d) &
e (14 7730 T67) 312 Sfioiep Foifia &t 21 =nfed
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(vii) WrFiaw 21 FEM TH F FAd Wl @ dfae e @ w2 8 W 8 @ e 4 e
| S (frmfon/Frmtor =€) e s 2

(viii) E.S.I. 9 SIET W HIE STl & (91 f&/399 ) 3 orex gonm St =ifed aiR <1 g =t 2un
H 12% =it =1 =1 €3 8 |

(ix) YIRG & gt a2 T NER @I ... (12/10) Sfesrer Hier wqz =t aafien g tefl g8 & qen 3@
GIEl, SEUE 991 98 T ol HeH ¥ 59 U IR- 91 o WHE @ § ahnfed faan e
(c) v Hied =ared for Frafeifad Hum we & o1 o (for R0 & 3o W A i 78 i sifi)  2x3-6
(i) T vwa-ufave FafdepE Iuwn 4 dmges qima & ol frifrm fem T aro sael it 35
SHTTHTT Tl 7
(i) FRE H e /e = WRE Saeyes e fern s 8
(iii) 1 hig Ie1e Yook Argaret ' Seqred ' E Yoiern gar & o Q8w s Fratan sene Yo @ Ot o ferd

Y B
ST-B (75 3ih)
2. (a) W sifwene & gl § Frafofiga & ot § Y&t (SEBI) %1 siervaa 91 TWeis: 243=5
(i) =€ ol TS

(i) FEw feq & fordt adigg yeiy g a1 & wag gHam

(b) T i el Ners fete 3 @i & 10,000 $ % FOB Wi &1 s1mam T ¥ 31 faawm 3

3424242+1=10
(i) 3TATGEH | S<0me § wRd o sigue o o e 700 $

(i) 9 # demeRat 1 et T W 5 i 6,000 :
(iii) STAftR % UF Heehr FET i fese vd foemm & forl e ™ 2,000 $
(iv) sArrcshdl = wie | i foem & fed nein § grafum s & 99@ T 50,000
(v) WA se0e 8 swmehal (Mers oo ) = e a5 & ararma =59 f&5 10,000 2
(vi) fesiel s st <fean gra Fvifia fafma &2 44.70 T = 01370 Ter
(vii) 8T 14(3) (a) (i) F A=<d CB & EC (Board) 51 sifergfam a1 44.60 = ©& M <or
(viii) FF BRI T 44.30 = U ST TR F Y SR § 47 TG
(ix) Toreeft fefrerehal =61 v o wfafedt @1 wfafed < swefta g 9 FOB e #1 5% witer e i
el 528 e F e 10% &)
afg RE H & TE Aol Seqifad forn S @ SHW 16% e SR 3R vl | CVD 4% # e a3 ¥
[ Hifo:
(A) =9 AT Yook
(B) @l anaraerdl ua FHores € 1 39 fahet CENVAT faemm?
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3. (a) YRG A Yoy anifd = (VAT) F7 & @R, fo aftfrerfirdt ‘om0 s’ (Input tax credit) IYeTe
& Brar? 4

(b) “mﬁqumm%;mmﬁwfwﬁ%"mwﬁﬁamaﬁmﬂ%mwml

4

(c) ¥ieel To8 Foet weg wew H der §, 331 1€ 2011 ammmm%mmwm

EF
(i) i< d@&m 031 fediw 1.1.2011 2 102000 %= fafs =t ufeq
(ii) SfisTeR W@ 032 femi 15.1.2011 T 102000 TR Fryyss
(iii) sister T 033 f&is 1.2.2011 7 204000 217 fafer o wfe
(iv) =St S@&m 034 a7 16.2.2011 ¥ 204000 i fafer ¢ afeq
(v) SIS W& 035 f&im 10.3.2011 7 100000 3¢ Frdver
AfaRer e
° mﬁ@rossémﬁrﬁaamﬁﬁsﬁ%éaﬁ#m'c'ﬁm%l
® St Hem 032 A ¥ 50% Hrer i 30.4.201 | I T T |
® Sieish &A1 033 %Wﬁnozooomwamﬁmmﬁmshmz.mou 1 AT U 2 T
® M faf A 2% & 9w v ffr R W 12,59 7

i‘lﬁaﬁﬁi’q:
(A) = 4 fafes wd 27 9=
(B) uﬁaﬂwmommmmaﬁﬁmma Ehaﬂﬁnﬂf‘af‘a:qdéamaﬁmﬁwm?

4. (a) wwﬂaﬁﬁaﬁ@m%msaﬁwﬁﬁ@,maﬂm 1872 % STTER T2 Yyar i =

sty gm? 4
(b) m%m@mmﬁaww#fmw@mw (B9 UE whiF W), fasita sifufiy
1994&:@31%@:?%%’?%@&1?@%%? 4

(c) Sif7g fee, amm feo (%W)mﬁwﬁmm%lmmwﬁﬁﬁwﬁmmﬁﬁm :
e we 2s uﬁﬂ%wwwgm%@rﬁuﬁ%ﬁwwﬁﬁnﬂrﬂﬂﬁm Hfirran ge geg
WL & ST o 997 39 W 40% < (abatement) W ¥ |

Wﬁﬁﬁaﬁﬁ?@:

STIfd R T = e T e 4 30,000

T Higa e Frf F =g z 10,000

STl 1 T ATl 9 Foa W G &% 4 3,000

i fero &1 faftfa S35 dert w ey o 4 3,000
I Hifena:

(A) F5F IE T HA & it F 4 ey |
(B) 3w feafa & seme ¢ gt % forw & <t a2 6+1=7
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5. (a) 4 39 FUR (39 52 =), s19eia fto T Tk ST WarHe €, 3 & frefor a 2011212 % fere et oy &

=y F e faa wem
4
T e 60,000 Hfi w78
Elate 20,000 Wi o9
HHRA 70,000 wfq =9
HARS =1 30,000 wfq a9

: ﬁ@mwa@mﬁwmﬁﬁmw%Wwahmm%zso,ooowﬁiaﬁ|

& maﬁmwmm%mmmﬁmw 1398 cc 3 @ &; e W Fort ¥ =y
50,000 ¥ (fermd 30% I ARRIT 39T F Tt §)

® R F WA ST F URER % T gry o e e S 779 & R < s s e % for 7 6000
T fod T |

® mﬁ#sﬁa@ﬁﬁr{ﬁ?4maﬂﬁtwaﬂmwm|

® me&mmﬁ@mﬁmwo.ooowﬁwémn

® aﬂwmmﬁamﬁ’mmﬁmﬂgmo i

o ﬁw#mﬁﬁ%ﬁmﬂ@%@%@zsmuﬁaﬁmwﬁm%n
® %Wmﬁmaﬂaﬁmmmww?wmwﬁraﬁ%mw
® aﬁ%aﬁmsﬂwﬁwaﬁr&ammmﬁ%mﬁmomoﬁmml

® FEIH! STHT T WTH =41 T 18,900 97

14 Hifeu;
wﬁaﬁmaﬁ201L12%Faqe—ﬂsquaﬁgamﬁmmaﬁtwa®ar 5+2+2=9

(b) Wﬁﬁqﬁﬁ%ﬁan&ﬁamaﬁrﬁmmmﬁmﬁsaamﬁ:{—?ﬁwﬁnmﬁaﬁfﬁm?ﬁl
(i) a3l § Fmfo watel @ aifag s (arratec| waters) 1 @Ielt el T 5 5 =99
(ii) %W@aﬂgﬁﬂ@%mawaﬁfﬂwaﬂm
(iii) Terees WS %1 o g < Frge e = e a1 Traf=a o 3 fom fesme foran e | weftarem

HIREA SS9 Y 39S S 4 20 ‘ 2x3=6

6. (a) wﬁmﬁmﬁmWﬁmﬁmm%?wwﬁﬂw%ﬁm@maﬁéaaiwﬁ@
F A FIT T 2 . 5

(b) ROC & T -3 Tt Heerqet i wider st et 22 3

(c) Tafaen e feto 2 Dud-2 3R Teno-5 1 fio w5 €1 Dud-2 ¥39 Sere S 1944 5 urg 4-A
& STTHR T FuifE (Specified) 3@ ¥1 Dud-2 st Teno-5 % foshal Hea wmw: T 30 3R T 20.40 iy S
1 S 3eTel & s e 7 109 e 3eR W, 2% e s, 1% vt o o= foren 3U= a1 2% 33
Y F31a fafer w0 o witey
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3 Dud-2 T ¥R 4-A % SFTER 30% Ferd! (abatement) 3TET § | Hedah 318 i 1,00,000 $HEA] @M

g fafer feqt & fere st=it w4t |
s fafaen fere o fomg M1 SRl W Fel Sere X ST it 0T St ¥ 343+1=7
7. (a) FAfafEa = g9emE: 2x3=6

(i) TF1 F H YTAH F HT SETIF Bl &7
(i) S Al I = g & ferg gt 2, afs wEses danel st wmehdl Rd & s feod 22
(iii) T T F - pEE F fou S gl §2
(b) N FHAR SAI-Hal SRS 37 FHE! W @] A §, S e we sifufm & e 7@ 39 82
3

(¢) ShicwEhaT Gesrt wfafa fae & fasia 99 2010-11 & SR =1 oy & @eE 9 4+2=6
(i) Wi & geraa ¥ 9RE= (Processing) § 3@~ T 12,000
(i) Je=h & grfes oM 9 - ¥ 20,000
(iii) &1 weeer] afufa | uw =Ie- ¥ 30,000
(iv) H%M gmfa § 3T - Z 60,000
(v) 3] =999 g ©I- T 65,000
1 i
Y e Tes winfa fote = s fAufor ey 2011-12 & faw s =g ama @ = afae & e
B EL
8. (a) ¥ 9% 9vE ¥ % wehm wrufa & g it gog wones 21?7 4fe ' wem wefa 8 319 wids ' 4 31 Ruieh
2 @ 1 FH 3TER g2 2+2=4
(b) MCA-21 W 397 Tersii W feoji foifen | 4
(c) 3iferd woe Frof U eTdsiiga W, S Wey Yemesdd 9T Yo w7, 3 fadia o 2010-11 F A WA
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30.5.2010 U AR § AW wH 1,50,000
03.8.2010  TH TS ¥ WA fae 1 v e 4,50,000
(f9&1 =t et W T 8,00,000)
15.12.2010  F&=R 2010 % <RA N 4rT HaW WEH F & fore uE Ui 3,00,000
10.1.2011  femmw 2010 F 30F = Arg Jard ugH S & forg wm ui 1,00,000
3132011 & Avg Y & fog 9w foet 9w iy s A
2011 ¥ ez =i T4 3,00,000
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